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A5.5
𝟏

𝟐

1 〈3  , 1, −5 〉 i , j , k.3𝑖 + 𝑗 − 5𝑘
𝟏

𝟐
 

2 𝐴𝐵⃑⃑⃑⃑  ⃑    ,          𝐵(4,5), 𝐴 (3 , 1).< 1 , 4 >    
𝟏

𝟐

3 

𝑇.(𝟒 , 𝟏𝟑𝟓°)  
𝟏

𝟐
          

4 
6

7
   

𝟏

𝟕 
       

𝟏

𝟐

5 .        1         
1

2

6 . 𝟏

𝟐

7 12% 2645 .±
1

√2645
= ±1.9%    

1

2

8 2- 2y=7x...x  14     
𝟏

𝟐

9 

lim
𝑥→0

cos
1

𝑥
. 𝟏

𝟐
    

10 4 , 10 , 5 )   , ( 4 , 0 , 9 )-( .=𝟏

𝟐
   ( 0 , 5 , 7 )  

11 𝑓(𝑥) = 6𝑥  3𝑥2 + 𝑐
𝟏

𝟐

B 3.5

       𝑢 = 〈2, −3,0〉    𝑣 = 〈8,5, −1〉

2𝑢 + 𝑣

𝒖 = 〈−𝟏, 𝟑〉,   𝒗 = 〈𝟐, 𝟓〉          

𝒖 ∙ 𝒗

𝟐𝒖 + 𝒗 =
1

2
𝟐 〈2, −3,0〉 + 〈8   ,5, −1〉 

𝟑

𝟒
〈〈4   , −6  ,0  〉〈8   ,   5  , −1〉〉=

𝟑

𝟒
〈12   , −1  , −1〉 

𝒖 ∙ 𝒗 =〈−𝟏, 𝟑〉 . 〈𝟐, 𝟓〉  = 
1

2
 -1(2) + (3)(5) 

1

2
 

         = -2 + 15  = 13
1

2
      

C 3
𝟏

𝟐
1 

𝟑(𝐜𝐨𝐬
𝛑

𝟑
+ 𝐢 𝐬𝐢𝐧

𝛑

𝟑
)  ∙ 𝟓(𝐜𝐨𝐬

𝛑

𝟒
+ 𝐢 𝐬𝐢𝐧

𝛑

𝟒
) . 

=  
𝟏

𝟐
3(5) (cos (

π

3
+

𝜋

4
) + 𝑖 sin (

π

3
+

𝜋

4
)) 

𝟏

𝟐
 

𝟏

𝟐
=15 (  cos (

7π

12
 ) + 𝑖 sin (

7π

12
 )) 

15 (  cos (
7π

12
 ) + 𝑖 sin (

7π

12
 )) . 

=15(  cos  105 + 𝑖 sin 105 )
𝟏

𝟐
 

=15(-0.26 + i0.97) 
𝟏

𝟐
  =-3.9 +14.9 I   

𝟏

𝟐
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A   1313

1 
  𝑢 = 〈6,−5,1〉    ,  𝑣 = 〈−8,−9,5〉

a88.9         1 b80.9 c75.9 d108 

2 

 

190𝑁 

33°

a159 N         1 b190 N c33 N d104 N 

3 
(−2, 270°)

a(-2 ,  2) b( 0,  2)     1 c(2 ,  2) d(-2 ,  0) 

4 
𝑧 = 4 (cos

𝜋

2
+ 𝑖 sin

𝜋

2
)𝑧4

a64 b256    1 c256+i d1 

5 
(5, 120°)(2, 30°)

a4.4 b5.4    1 c6.4 d7.4 

6 

a0.50 b3 c0.75    1 d0.33 

7 

880672.5

72

a829    b220    c22       1 d44    

8 
𝐴, 𝐵 𝑃(𝐴 ∩ 𝐵) = 0.2, 𝑃(𝐴) = 0.5, 𝑃(𝐵) = 0.7𝑃(𝐵/𝐴)

a0.3 b0.71 c0.4    1 d0.14 

9 
lim
𝑥→1

√𝑥 + 3

a0 bc√𝟐 d2    1 

1

0 

𝑓(𝑥) = 4𝑥2 + 8𝑥[−3,3]𝑥

a3 b9 c0 d-1 1

1

1 

ℎ(𝑥) = −16𝑡2 + 95𝑡 + 15𝑡

𝑡 = 1𝑠𝑡 = 2𝑠

a23ft/sb470 ft/sc4.7ft/sd47ft/s 1

1

2 

aΘ = 
𝝅

𝟏𝟐
 1 bΘ = 

𝝅

𝟗
 cΘ = 

𝝅

𝟔
 dΘ = 

𝝅

𝟑

1

3

 

a
. (5, 45°) 1b(45°, 5) c   (0,45°)d   (0,5)
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A  4
𝟏

𝟐
 

13

1      z 𝑗 = (0,1,0) Y
𝟏

𝟐
 

2 𝑟 = 5  𝑥2 + 𝑦2 = 10    𝒙𝟐 + 𝒚𝟐 = 𝟐𝟓  
𝟏

𝟐
 

3 18,16,26,17, 26 ,23,26    20      26
𝟏

𝟐
 

4 
𝟏

𝟐
 

5 lim
𝑥→5

(4𝑥 − 10) 30 10
𝟏

𝟐
 

6 𝑗(𝑥) =
7𝑥−10

12𝑥+5

𝟏𝟓𝟓

(𝟏𝟐𝒙+𝟓)
     

𝟏𝟓𝟓

(𝟏𝟐𝒙+𝟓)𝟐
𝟏

𝟐
 

718𝑁20𝑁38𝑁2 N
𝟏

𝟐
 

8 
𝟏

𝟐

 

B 
89 %  5

3 𝟏𝟏
𝟐

 

n= 5  𝟏
𝟒
  ,    p= 0.89  𝟏

𝟒
 

μ = 𝑛 𝑝 =   5(0.89) = 4.45 𝟏
𝟐

 
𝟏

𝟐
 

 

𝑞 = 1 − 0.89 𝟏
𝟐

 . 𝟏
𝟐
  σ2 = 𝑛 𝑝 𝑞 =

𝟏

𝟒
  5(0.89)(0.11) =

𝟏

𝟒
0.4895

C
𝜇 = 74  , 𝜎 = 6 , 𝑝 (𝑥  > 86

3

 

𝒑 (𝒙  > 𝟖𝟔) =
𝟏

𝟐
(𝟐 + 𝟎. 𝟓)%

=
𝟏

𝟐
𝟐. 𝟓% 

D 3 

lim
𝑥→ ∞

 7𝑥3−6𝑥2+1 

  2𝑥3+4𝑥
  =   

7

2
   

𝟏

𝟐
 

𝟏

𝟐

3x

lim
𝑥→−6

 𝑥2−36

   𝑥+6
 =     

(−6)2−36

−6+6
 
𝟏

𝟐
=

0

0
 

 . lim
𝑥→−6

(x−6)(x+6)  
𝟏

𝟐

x+6
= lim

𝑥→−6
(𝑥 − 6) 

𝟏

𝟐

 .= −6 − 6 
𝟏

𝟐
= −12 
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A B A

4
𝟏

𝟐

12

A B 

1 𝑢 = 〈𝑎, 2〉, 𝑣 = 〈3,6〉𝑎2
𝟏

𝟐
 √𝟐𝟗 

2 5 + 2𝑖 1
𝟏

𝟐
 -4 

3 3,8,6,4,9 4
𝟏

𝟐
    .  

𝟓

𝟖
 

4 
464

3
𝟏

𝟐
      .√

𝟐𝟔

𝟓

5 

lim
𝑥→0

𝑓(𝑥)

6
𝟏

𝟐
 0 

6   lim
𝑥→∞

𝑥2+1

𝑥3−5𝑥+2
5

𝟏

𝟐
 3 

7 𝑦 = 𝑥2(3 , 2) 8
𝟏

𝟐
 

𝟗

𝟐
 

8 
𝑥

∫ 𝓍 𝑑(𝑥)
3

0

7
𝟏

𝟐
 6

9  1 

B 8 8 

𝑓(𝑥) =  𝑥5(2 𝑥3 + 4) 

𝑓(𝑥) =  2 𝑥8 + 4𝑥5 𝟏

𝟐
 

.𝑓 (𝑥) =
𝟏

𝟐
2(8)𝑥8−1 +

𝟏

𝟐
4(5)𝑥5−1

.=
𝟏

𝟐
16𝑥7 + 20𝑥4

 

h(t)=90t -16 𝑡2   t

v(t) 
1                 -22(16)t- 1-1V(t) = 90t  𝟏

𝟐
 

          V(t)   =90 -32t     ft/s                
𝟏

𝟐

v(T)t=2

V(t)   =90 -32(2) 
𝟏

𝟐
   = 

𝟏

𝟐
  26     ft/s                 

∫ 𝑥3𝑑𝑥
4

2
  = 

 

= 
𝑥3+1

3+1
| 4

2
  

𝟏

𝟐
  = 

𝑥4

4
| 4

2
  

𝟏

𝟐
 

 
44

4
− 

24

4
 
𝟏

𝟐
= 64 − 4 =   

𝟏

𝟐
60 

∫(6 𝑥2 + 8 𝑥 − 3 )𝑑𝑥 

 

 

=
𝟏

𝟒
 
6𝑥2+1

2 + 1
+

𝟏

𝟒

8𝑥1+1

1 + 1
−

𝟏

𝟒
3𝑥 +

𝟏

𝟒
𝑐

6𝑥3

3
+

8𝑥2

2
− 3𝑥 + 𝑐

𝟏

𝟒
 2𝑥3  +

𝟏

𝟒
4𝑥2 −

𝟏

𝟒
3𝑥 +

𝟏

𝟒
 𝑐
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